AP STATTSTICS (HAPTER 5 — PRoBA aiLiy Review) *I

m A group of 50 college students were classified according to hair and eye color. The
results are summarized in thc joint frequency table below-
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(a) What is the probability that a randomly selected student has brown hair?
(b) What is the probabilit); that a randomly selected has red hair or brown hair?

(c) What is the probability that a randomly selected student has red hair or green
eyes?

(d)  What is the probability that a randomly selected student has red hair and blue
eyes?

(© What is the probability that a randomly selected student with green eyes has blond
hair? . P\ esteicted seen P\ e — Coné»t Honc|l Prob

(f) Are the two events “red haix” and “gr een eyes” mdependent‘-’ Shcmé Efnrk to
Red.

Ry “°‘i‘213‘3§’é‘w+ crecke Buwe buail e s S8 s
SQ%MGQM Bar Afcph GrLEFN ok =30 2ligs

Bwte

O) ? ( 'B“ ) llj_ f&‘r!\f:&a.ws ll sﬂ’s-wtﬁﬁ-

#1590 e TWEN ALt Jal DEPra OSNT,

e = Il Py
va /—m(m A%, ) “0 +_L“L :}3_3? ‘ OR means ‘add’ U
Uaron
Mof""",w) -
Er7 4 = M, 23 _10 |24
('*A_\sjm C) (R“ QR GE‘) = + —S_i; = 5o \
" A) P(RHM& EDE> =]§ And mecns W;L:wsi\_;.&m
BVY % | , IRE
e ) P(BR|66) 2| Z| ¢ Godivund Frobability
} CE"‘"“/Maraim \
§) Tndeeendact ‘P(ﬂ \B) = P(n)
PLRRIGE) = P(RH) PcElewy= v(e8) N\~

23 50 T 5o
3L #.32 05 F . 5 \x/



@ An exploratory oil well is being drilled. The probability of drilling through
shale is 0.4. If the well goes through shale the probability of striking oil is
0.3. If the well does not go through shale, the probability of striking oil is

(a) What is the probability of strikig oil? /
Plove) =48 )= 12+ 06 = &
(b)  What is the probability of drilling through shale and striking 0il?
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Medi-Mart has just come out with a new pregnancy test that registers blue (indicating a
pregnancy) in 95% of users who are pregnant. However, the new monitor also registers

blue in 5% of the users who are not pregnant. Suppose that, in reality, only 4% of

women using this test are pregnant.

Construct a table or draw a tree diagram that reflects the situation, including
probabilities or counts.

What is the probability that a randomly selected woman who uses this test gets a
“blue” result?

® @ ©

What is the probability that the woman actually is pregnant given that the test
registers blue?
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b) You get all hearts.
¢) The third card is your first red card.
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4 “~yg 17 He o] -
S2-% 48 =}o7g3’

e Plioac)e

Q“ /t_ o & 5’_‘;\&%
AR (3 A LPL ok

e— v

ae 25 2 =127}

5T T
IST“‘(‘

LT pick Back ™ 28® ek Biagy

@ P( atlewdt A diceen 5\ = | — (v tl‘mawn.ﬁ

|- 32302 ~FFsd

E] " Shirts, The soccer teaj:n'slshirts have arrived in a big

/Guta Y medisn Wert 2medioms
0 larg €

box, and people just start grabbing them, looking for the ' YT :
right size. The box contains 4 medium, 10 large, and G X do SWaTs
6 extra-large shirts. You want a medium for you and

one for your sister. Find the probability of each event !_!:, \S ;
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B‘mTMT AND _TNDEPENDENCE

. &} Eligibility. A university requires its biology majors to WEA P{5TnTS ) = .52
BY GIEN
take a course called BioResearch. The prerequisite for this
course is that students must have taken either a Stalistics ¥ (Compoitr) =25
course or a computer course. By the time they are juniors, P54 end cum P“""S = .07
52% of the Biology majors have taken Statistics, 23% have
had a computer course, and 7% have done both. '
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3 At a certain college 80% of the freshman are enrolled in English, 70% are enrolled in
Mathematics, and 65% are enrolled in both courses. A freshman is to be randomly

selected.
(a) Construct a two-way table showing this information.
(b) What is the probability that a freshman is enrolled in English or Mathematics?

(c) What is the probability that the freshman is enrolled in English, given that the
student is enrolled in Mathematics?
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\ Cl ! " Optic City sells six brands of digital cameras. Each brand is available in 2, 3, or 4
: megapixels.

(a) How many different digital cameras are sold by Optic City?
% Cemera's = (K\gpends) (* models) = L(3) =[I3 TY0ES or cameens)
@ Make a tree diagram of a two-way table showing all of the different cameras.

(c) What is the probability of randomly selecting any one of the digital cameras?
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